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SECTION -1
MATHEMATICS & SCIENCE

The water droplets in free fall are spherical

due to
(A) Gravity * (B) Viscosity
(C) Surface tension

{D) Intermolecular attraction

The rate constant for the first order reaction
is60 s~ 1. The time in which it reduce the

: 1 th
concentration of the reactant to_*_
16

value
is
(A) 46 seconds

(B) 46 x 1073 seconds

{© 46 x 1072 seconds

{D) 2 seconds

A small metal ball is suspended in an
uniform electric field with the help of an

insulated thread. If a high energy X-ray
beam falls on it

(A) The ball will move to infinity.

() The ball will be deflected in the direction
of field.

() The ball will not deflected at all.

() The ball will be deflected opposite to the
direction of field.

2.

 Page2

‘qu'[..l
Tftra gd A=
W iR W 9 B el W
MBR MeTPR R BRI BT & 2
W ToE (8) ZTeral

(0 g q1d
(D) STRIISI[H JHHOT

yo wfe W v AfRA B =
ReRid gost ® | a8 Wy R

afrERS B wigw 10 g @ e

16
(A) 46 AFHUSH

(B) 46 x 1072 3zvss

(©) 46x 1072 dwuzs
(©) 2 Jposa

mga%wﬁaﬂamaﬁ

O ® | A UF ST el B Xeray
d9 395 W Sl S 2 9

R g I TR Felt e |

()il dga &= @ e § fAafg 26

© g gk =& anfr |

iDlﬁgﬁﬂga%aaﬁ%qﬁaf&snﬁﬁ%ﬁﬁ
l"

Di

592382



The nucleus resulting from 2;2{] after

successive emission of two -particles and

four B-particles is

(A) 23 (8) 23
gzOU 8§Ra

() 230 (D) 230
SmTh 94Pu

The work done in placing a charge of
8 X 107*® Coulomb on a capacitor of

capacity 100 microfarad is
A 16 x 10732 Joule

B) 31 X 1072% Joule
© 4 x 107 Joule

®) 32 X 10732 Joule

. The length of a cold storage is double its
breadth. Its height is 3 metres. The area of
its four walls (including doors) is 108 m?2.
Its volume will be

(A 206 m® () 316 m3

© 416 m3 (D) 216m3

A convex lens is in contact with concave
lens. The magnitude of the ratio of their

2 ;
focal lengths is . Their equivalent focal

length is 30 cm. What are their individual
focal lengths in cm ?

6.

(A)

sz_u q [ @ U4 AR g-HU b
PHE SO b URUTEETSY §9 dTel
T -

(A) 23 (B) 23
92&" 880Ra
() 230 (D) 230
g h gy PU

100 #WEpRe oRar & gy 3
8 X 10718 DM BT AW @Y ¥ 7ot
BT BRI -

16 x 10732

® 31 x 1072
4 X 10710 Vel

32 % 10732 o

(€

(D)

TH TN T W WS Sudl des @
A R | sHG Gas 3 | ¥ | e
IRI SR (SRari fed) BT S5%e
108 & | 99 T8 &1 I¥e B -

A 206 B 3165

© g1’ D) 216

Tdh Idd ¥ 3Jddel o & 96 § © |
O Bed gRAl b U @
aRmror %éisﬂaﬁmmfgﬁ

30 W B | TS AT Bldw
L A gl -

(A) -75, 50 (8) -10, 15 (A) -75, 50 (B) -0, 15
(©) 15,10 (0) 75,50 (© 5, 10 (d) 75, 50
Page: 3
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10.

1.

13.

In what ratio does the point (-4, 6) divide |s. aq

the line segment joining the points A(-6, 10)
and B(3,-8)?
(A)3:7

©4:9

(BUI:S
0)2:7

At the magnetic poles of the earth, a
compass needle wil| be

(A) Vertical (8) Bent slightly
(€) Horizontal

(0) Inclined at 45° to the horizontal

Real value of x and y, if i'___l + y-1 =i
3+i 3—i

(A) -2,5 (8)/4, 6.

(€ -10,12 d)7,-7

If PP =P <and ¢, -_—"CH_i, then the
values of nand r
AAn=2r=3 B)n=3,r=2

©n=4,r=5 P)n=5r=4

If a body loses half of its velocity on
penetrating 3 cm in a wooden block, then

how much will it penetrate more before
coming to rest ?

(A) 2 ecm

(© 3cm

(B) 4 cm

(D) 1cm

The molarity of pure water is (density of

10.

-

3.

A TF TG dFS S e

fawgeit A(-6, 10) T B(3, -g) 3
e el YErEs BT (4, 6) fag
U ¥ qrem -
(A 3:7
€ 4 :9

(B) 4 :5
)2 3 7

R & TEIY gdl ® (6 BN 3
T2 -

(A) Feafer

(B) gt < gat &

@ afes

©) 8RS 9 450 W g g§

gy ¥=1 v-1_. & . ak L2l
g @=L 2n ¥

EISICE: & i

A -2 5 (B) -4, 6

@ -10, 12 b) 7, -7

A nPr =“Pr+1'€i?ﬂ nCr = nCr,_l i

n 3R r B 79 BN -
lA]n.—.z’r=3 [B)n
{qn=4’r=5 IDln

3% F= 2
S5 r=4

THS W
T dET ¥ o 3 @ o & q)

(o B ST S N
faxmmaer A a7 v 2

(A 2 cm B 4 cm
© 3 m

1}

3
IJg
f&

@) 1 cm

TE T B HeRT § (Tl ST 499 =

water =1gm 1) 1 gm 1)
(A) 66.66 M (B) 45.55 M (A) 66.66 M () 4555 M
(€) 444 M (D) 55.55 M € 444 M (D) 5555 M
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14,

15.

16.

7.

18.

In a single throw of three dice, the
probability of getting a total of 5

w 5 B 1
216 216

© 5 o 1
108 36

The number of moles of KMnO, that will

be needed to react completely with one
mole of ferrous oxalate in acidic solution is
(A) 2 (8) 1

(€

Ul &~ U1

o) 3
5

In a AABC, AB =g+/3 cm, AC = 12 cm and
BC=6cm, thenthe angle Bis
(A) 45° () 120°

© 9¢° ) 60°

The value of x in the fol lowing.series :
L+64 11+ 164 200 +x =148

(A) 39
(€) 38

(B) 36
(D) 37

A particle is projected at 60° to the

horizontal with a kinetic energy K. The
kinetic energy at the highest point is

“ A 9N & THd 9Bl H Pl AT 5

-

pry

1

=

5

6.

7.

8.

A B wifrear Bl -

(A) 5 () 1
216 216

() 5 (D) 1
108 36

KMno, & #@ & Jem st ey

AR ele & 1 Ad A iy Reag 3
i frar & forg emave &
" 2 (8) 4

(€) (0) 3

b

& U

UF RS AABC ® AB = gy3 ¥, AC

=12 % =M BC = 6 I B @ I B
BT AN 8RN

(A) 45° (B) 120°

© 90° )  60°

f=feaa St %, &1 w9 2n -
1+#6+MH+16 +

........ + x = 148
(A) 39 () 36
© 38 (D) 37

TF U K TR ol ¥ &R ¥ goe
P R YAl e S & @ Seaaw

| fdg w R ot enft -
(A) K (8) zero (W K (B) g
© K 0 K © K o K
2 4 2 4
Page: 5
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19.

20.

21,

A body cools from80°C to64°C in 5
minutes and same body cools from 80 °C to
e What

temperature of surroundings ?
(A) 28°C (8) 22°C

in 10 minutes.

is the

(© 25°C (D) 24 °C

Which of the following behaves both as
nucleophile as well as an electrophile ?

(A) CH,Cl (8 CH,0H

(© CH;CHO () CH,CN

An artificial satellite moving in a circular
orbit around the earth has total energy [PE +

KE] E,.lts potential energy is
(A E, B —p
© 2E, (®) 15,

18,

20.

21,

W frem goec @ 64°C I 9T 8
fFe ¥ gyr & o 98 Fer gooc ¥
5yo¢ @ ovel 10 fEe H OB E |
AR % qrERel @1 ard e -
(A)  28°C B 22°C

© 25°C ) 24°C

g & ¥ o9 TIfeEE 9
gaTTEE QM I TE FIE DR € 2

(A)  CH,CI (8 CH,0H

(©  CH,CHO (D  CH,CN

F Tﬁm SEE W gdft & IR 3R
9 W Y B % Do

ot (R vd 7w &) g, © |

o Refast ot enft -

(A E, () —E,

© 2E, P  15E,

22. Nessler’s reagent is used for the detection of | 22. frﬂam IfEd® 1 IGENT I o P
(A) Na* B Ccut fore 2mr @
(A  Nat B  cu®t
© K¥ (0) NH; .
gL gE (O NH]
2. Rootoftheequation 3x?+7ix+6=0 |2 WAGRT 3524 7ix46=0 & Id
(A) 2 | 3 SO
—-3i,—i 3,=1 il
3 2 (A) e 2 (B) 3 =9
—-3i,= 1,—=1
o - & (0) 3, 2i gt 2
2i,—1
3 o 2 D) 3, 2
21, =1
3
Page: 6
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2. Which of the following is not a colligative
property ?

(A) Elevation in boiling point

(8) Relative lowering in vapour pressure

(©) Optical activity

(D) Depression in freezing point

25. If

tanx + secx = /3, such that

0 <x <m, then xisequalto

(A T (8) 5m
3 6
© 2m o T
3 6

6. Three masses are placed on the x-axis : 300
gm at origin, 500 gm at x = 40 cm and 400
gm at x = 70 cm. The distance of the centre

of mass from the originis
{A) 30 cm (8) 50 cm

(€) 45cm (D) 40 cm

2. Which ore contains both iron and copper ?
(A) Malachite ~ (B) Chalcopyrite

(€ Chalcocite (D) Cuprite

2. The perimeter of a triangular field is 450 m
and its sides are in the ratio 13 : 12 : 5. The
area of thé triangle

. W 5670 m? B 6750 m?

(© 6570 m? (B) 7560 m?

é

2 fefries & sRiers o 8 @ -
R FgeMi® P I~

) aqmEe $1 e s
© g fharsierar
(0) RBHid &1 qHa

25, Ffer

tanx 4 secx = /3, Vdld
0<x<m @ x @ AF BF1 -
Ay T (B 5w
3 3
© 2m (o) T
£ 6

% U SHAE -d8 W, 300 gm BT HA
fdg W, 500 gm F1 5 = 40 VW W
T 400 gm BT 5 = 70 ¥ W W T

gmwﬁwﬁﬁﬁqﬁ

(A) 30 I (B) 50 ¥
(©) 45 I, (0) 40 W,
7. {58 TP e § ollgl 91 dieT <HT 22
(A) Frgrge (B) FrepIURRISE
(O FreprITZE (0) FgyTEE

% Th PYWMeR Wa &1 aRAT 450 # R

TAT ST Yl HT U 13 : 12 5
T | POTeR ©a &1 8F%a BT -
(A 5670 & B 67504°

® 657042 (O 7560

i
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29

30.

31.

33.

IUPAC name of | is
OH

(A) 1-Ethoxy propan-2-ol

(B) 3-Ethoxy propan-1-ol

(©) Ethoxy pentanol

(D) 2-hydroxy-3-pentanone

In Friedel Crafts alkylation, besides AlCl;,

the other reactants are
(A) C¢Hg + NH; (8) C¢Hg + CH,Ci

(9 C¢Hg + CHLCOCI
(D) C¢Hg + CH,

A bomb of mass 9 kg explodes into 2 pieces
of mass 3 kg and 6 kg. The velocity of mass 3
kg is 1.6 m/sec. The kinetic energy of mass 6

kg is
{A) 9.6 Joule (B) 2.92 Joule
() 1.92 Joule (D) 3.84 Joule

Percentage errors in the measurements of

mass and speed are 2% and 3% respectively. |

The error in the estimate of kinetic energy
obtained by measuring mass and speed will
be

(A) 8%

€ 2%

(8) 10%
(D) 12%

If x =322 then x2 4 }Ewillbe
- = x

(8) 36
(D) 30, .

(A) 24
(€) 34

RN

3

/

29.

31.

32

33.

CH;—?H-CHz‘OCZHS @1 JUPAC M &

OH
() 1-gejieRfy Siv-2-ifel
(B) 3-gofaRfy HYdH-1-3ifcd
(© gejfaft AT
(0) 2-gTSGIqRR-3-veHr
WISl BT & Todbleldyo #

P 3eTaT ANPRD & -
(A} CgHg + NH,

AlCL

() C¢Hg + CH,CI
(©  C4Hg + CH,COCI
(0} €, 4 CH

9 kg FFFM P T 99 e & arg
3 kg 3R 6 kg & 7 THer § dear & |
3 kg SFAM BT 47 1.6 HAL T | 6 kg

SHE B! TIfaS Hef Beft -
(A) 9.6 eT (B) 2.92 e
© 192 o (D) 3.84 et

S AR 9T F OA9T H OHEIE 2%
AR 3% P ghe AR At TS | gegEe
AR AT & AT @ WG S St b

AdMeperT A FRE BN -
(A) go (B) 10%
€ 2%. (P) 12%

i

uﬁng_gﬁaa#x2+%m¥rm

BIIT -
(A) 24 () 36
(€) 34 (D) 30

382



3. The half-life period for a zero order reaction|%. =1 e & affpar & v o I

is equal to

T AR ¢ -
() 0.693 ® [Al, A 0.693 @, [Al,
K[A], 2K K[A], 2K
(© 0693 (o 2K (© 0693 o 2
K (Al K ‘ [Al,

3%. If the arcs of same length in two circles|%. A /4TS & 919 Q) Eulica L

i
subtend angles of 60° and 75° at their 60° AR 750 & BV 9 § qF 97 q_?ﬁ

centres, then the ratio of their radii o Bremelt &1 U B -
(A) 4:7 B) 6:7 A 4 :7 (B) g :7

(©5:4 (D) 7:8 © 5 : 4 D 7:8

3%. If pendulum bob on a 2 metre string is |36 Ifg s ﬁw dig S 2 W B e
displaced 60° from the vertical and then| daq1 & @1 Srafer A 60° W o SR
released, what is the speed of the bob as it is Bis far wmr €1 99 @1 oy T W
passes through the lowest point in its path ?

“l e g @ R W 3T w®n g 2
{(A) 4.43 m/sec B) 2 m/sec (A) 4.43 |4 (B) V2 . R

© 2 x98m/sec @ 1°

& m/sec © yZx9g AR ® 1 HRY

V2

3. The length of the minute hand of a clock is | . UH U B e el s & TS 1
14 cm. The area swept by the minute hand| It ® | fiFie a1l ¥ & gR1 5 fme &

in 5 minutes. PR 5T Q& B &G BN -
A) 154 (8) ‘154
(W 154 cm? T e _ (/) 154 154 0 (8) 154 e
G. 23 3
© 154 (o) 154 54 p) 154
— m* S sz {C} L @]ﬂz ( } ik 3@2
17 9 12 9
3. Which of the followmg As not a good |3 fy=fafRed # ¥ N W aids 8 § 2
conductor? e (A) NaCi(s) (8) NaCl (Remge
(A) l (B)
NaCl(s) P NaCl (moitgn) © Nacl(aq) ) Cu o
(© NaCl(aq) (D) Cu metal )

o —



39.

40.

A 25 watt-220 volt bulb and a 100 watt
-220 volt bulb are joined in series and
connected to the mains. Which bulb will
glow brighter ?

(A) 100 watt bulb

(8) Both will glow with same brightness

{C) First 25 watt bulb and then 100 watt
bulb

(D) 25 watt bulb

Which of the following does not have a
metal carbon bond ?

W AI(0C,Hs);
© Ni(co),

(8) C,H;Mg Br
(0 K[Pt(C,H,)Cl5]

IR

9 95 arz _o90 diee @ TE ded B 100

40.

are _220 dvee & G aed U #lHE H

Reg (7 Ta9) I S
mlﬁwmmm?
(A) 100 gTC BT dcd
®) < gog TAA AP |
() Ugel 25 dT¢ Bl ged Y 100 A€ B

Pk _
(D) 25 g€ BT ded

fraforag ¥ @ Rpad arg-pea 49 &l

g7

(A Al(OC,Hg); (B  C,H;MgBr
©  Ni(Co),

©  K[Pt(C,H,)Cl;]



39. A 25 watt-220 volt bulb and a 100 watt
-220 volt bulb are joined in series and
connected to the mains. Which bulb will
glow brighter ?

(A) 100 watt bulb

(8) Both will glow with same brightness

(€) First 25 watt bulb and then 100 watt
bulb

(D) 25 watt bulb

40. Which of the following does not have a
metal carbon bond ?

(W AI(OC,Hs); (8 C,HcMg Br
© Ni(CO), (0 K[Pt(C,H,)Cls]

A

39.

40.

et B 100
25 are 220 dree @ TP I .
m-zzanE*%“{’Wﬁ”i“”ﬁ

Seax e Rad (9 T ¥ S
w%lﬂ?%wmﬂ%“a“” 4

(A) 100 grc BT ded

®) A qog A DT |

(© YEar 25 arc B ded fh 100 1€ &
ded

(0) 25 qrc PI dcd

freafafaa ¥ O e arg-eidd dg T2

g2

(A Al(OC,Hg); (®  C,H;MgBr

©  Ni(Co),

@  K[Pt(C,H,)Cls]



SECTION -1l - 11
#1. In chain surveying field work is limited to 4. o1y wdeor F & Frd Wt @
{A) Linear measurements only (A) Hael IET 99 P
(8) None of these (8) T U B TR
(©) Angular measurements only ©) Faa HvT 79 &
(D) Both Linear measurements and Angular (0) ¥y vd PN A S F
measurements '
42. Hard solder is an alloy of 2. HoR Weex st fsErg ’a} ?
(A) tin and lead (8) None of these (A) o7 iR oI (B) g7 W g &l
() copperandzinc (D) All of these © PR AR Biw @ I
43. In lettering, graph size of letter ‘J".is 43. JeRTH =g P BT B AT g
(A) 5x5 (8) None of these (A) 5 x 5
(C) 3x5 (D) 4 x5 (B) Eﬁff?ﬁgﬁ '
© 3 x5 (D) 4 x 5
44. Binding material is 4. gy yard §
{A) Cinder (8) Coarse sand (A g (B) Hier 97
(©) Bitumen (D) Stone grit © feefm (D) geeRr & firedt
45. Crown glass is used 4. ZpTIT TARY TAMT P A 8
(A) Glass tube (B) Electric bulb (A) -7 <9 () ﬁ@ god
() All of these (D) Window panes © ¥ oft (0) fA=er ¥4
46. Back bearing of a line is equal to 4. = @ B T ﬁ?b?:ﬂ:l H1 A9 Bal ©
(A) fore bearing + 180° (A 3 RFAE + 180°
(8) fore bearing + 90° (B) 3y fdHaE + gq°
(€) fore bearing + 360° © aF1 RFAE + 3600
(D) fore bearing + 270° (0) 3 fdHa 4 2700

AR o



47.

48.

5i.

53.

M

. Types of varnish is

{A) Oil varnish (B) Water varnish
(c) Both Oil varnish and Water varnish

(D) None of these

Object of seasoning of timber is
{A) None of these (B) Increases decay

[©) Reduces decay (D) Reduces strength

Soil pipe in plumbing services means a pipe
{A) carrying waste water from water closet

{B) carrying water
{C) carrying industrial waste

(D) carrying solid materials

Weight of one bag cement is
(A) 30 kg. (8) 20 kg.

(€) 25 kg. (D) 50 kg.

Pile foundation are suitable for 47,
(A) None of these (8) Compact soil
(c) Water logged soil (D) Soft rock
The local swelling of finished plaster, is |48
termed
(A) Blistering (B) Cracking
(©) Hacking (D) Dubbing
. Foam glass is used for 49.
(A) Fire proof (B) Heat insulator
(€) Both Fire proof and Heat insulator
(D) None of these
50.

51.

52.

53.

reer e 1 s o T &
(© Sl WRTq dTell el

(0) 7y TeeH

qe, e &1 Perl Del Sl &
(A pErt g (B) R TS

(© B (0) S

B T FT VAN fhar Srar
(A) =R (B) HHRME!

(© R qor SHERE SFI

) g A PSR

qifffsr & yerR

(A) RIS grf=er (8) gy arfeiar

(© gifrer 3R gl arfer

©) g9 q B T8I

ferR @1 e (T @1 ST
(A]Eﬁ@.aﬂ_&pqﬁ

(B) &RUT @Y g™ |

(€©) &RV BT HH HYAT |

(D) rRA B HH HYAT |

TIHN H WA 9y BT GINT fhar

SIGI
(A) JiraTery & AU g9 & yare o |

®) gt & ware ¥ |
(€ Sienfre e & waE ¥ |
(0) BT ygrd & YarE A |

TH 9 HAve BT 9o §

(A) 30 Kkg. (B 20 kq.
(@ 25 kg. () 50 kg.
Page: 12
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. The foundations are placed below ground
level to increase

s flg B Pmfor RTs dad A A T

oM & fore fvar <iran & 2

(A) Strength (8) Workability (A) gy (B) T
(C) Stability of structure O IRFT & el
(D) All of these ©) J Wit
55. The window which is provided on a sloping | 55. g ) el Bad W S WIF drell
roof of a building, is called Resat &
(A) Lantern window  (B) Casement window (A) e Rasa) (B) FHvm< Raga
(€) Bay window (0) Dormer window © § Rasa (D) TR Resat
56. The platform at the end of series of steps, is| 5. W< ¥ Herd] @ TaIfT W eHEY Bl
known as Hal Srdl &
(A) Platform (B) Stop (A) Grew™ (B) g
(¢) Landing (D) Rest © Jf&T (D) ¥
57. The depth of excavation of foundation is|57. Hiq & MRS TEFTTET AN Sy £
generally measured with (A) TETl Bidr
(A) Steel tape (8) Levelling staff (B) Levelling (?l?fﬁ-i'ﬂ) et
(©) Bonning rod (P) Ranging rod © QifyT I (D) IR IS
58. Main ingredient of Distemper is s8. fSRAR &1 &7 Iquq T
(A) Chalk (B) Cement (A =rH () HHue
{€) All of these (D) Lime © J gt (D) =7
59. Reinforcing material is 59. Udeld g B
(A) Castiron (B) All of these (A) T4l =T (B) I ot
(€) Mild steel (D) Cement © ¥g 3w (D) HHue
6. Awell-conditioned triangle has no angle less |e0. {[aiffg fyst # ®/o1 &1 A9 o9 =8
than | BF ARy J
(A) 20° (8) 3Q° (A 20° 8  30°
(9 60° (D) 45° (€ 60° ) 45°
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61.

- ———

No. of bricks in 1 m?3 brick masonry

61.

v e & far ¥ 46 B v €

(A) 400 nos. (B) None of these (A) 400 (8} ERC ARl BIg T8I
{(C) 300 nos. (D) 500 nos. (© 300 (D) 500
62. A trap is provided in kitchen for waste water | 62 [N U gt o e § U @
(A) Gully trap (B) Intercepting trap s fear S § i
B) gUETUIC
(€) Floor trap (D) All of these (A) Teft ;‘;q 18]
(€ TAR 29 (0 ¥ I
63. Plotting of in-accessible points on a plane |63 I ﬁg@f BT IRGA @i efdd W
table is done by fpgr T ®
(A) Radiation (8) Intersection (n) fafdpor fafr |
{c) None of these (D) Traversing ~(8) gfo=de ICICEES]
© 3 9§ Py T
(D) FreT-Xgor fafyr
64. Representative fraction is equal to 6. FreTd < &1 A9 &
(A) Distance of object (A) @;ﬂ,—,ﬁﬁ@ (B) maﬁgﬁ
Distance of Map == now W Haed
8) Distance of Ma
Distance of b‘pct kLR
istance of obje
LT TR DI s-matﬁﬂaﬁgﬁ
{€) All of these Gﬂﬂﬁﬁ@ maﬁaﬁ
(D) Both Distance of Map and B
Distance of object
Distance of object
Distance of Map
65. Grades of cement 65. Ave & TS ©
(A) 53 grade (8) All of these (A) 53 Ue (8) I il
(0) 33 grade (D) 43 grade (€ 33 U (D) 43 TS
66. Pozzolana is - 66. QIS &
(A) Cement (8) Bitumen (A) JHTE (8) faefh=
(€) Surkhi (D) Sand (€ T (D) qre]
Page: 14
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67. If Whole Circle Bearing (WCB) of a line is
120°. Its Reduced Bearing (RB) is

(A} S30°E (8) S60°E

(©0 N60°E (0} N 120°E

. To construct a 10 cm thick wall, you will
prefer
{(A) English bond

{€) Flemish bond

(B) Stretcher bond
(D) Header bond

The least count of Vernier scale is

(A) value of one division of main scale
divided by total number of divisions of
Vernier scale.

{8) All of these

(€) product of the smallest divisions of main
and Vernier scale.

{D) sum of the smallest divisions of mainand
Vernier scale.

70. Dumpy level is used for

(A) Chain survey (8) Levelling

(A None of these (D} Compass survey

71. Planimeter is used for measuring

(A) Slope (B) Area

(©) Volume (D) None of these

72. Luminous paints contains
(A) Radium (8) Calcium sulphide
(€) Calcium sulphide with varnish

(D) None of these

67.

68.

69.

70.

71

72.

qigd womelt (WCB) # et @ @
femam 1200 ¥ | Reges womeh (RB) 4

G @1 fReAE g

(A} S30°E B  S60°E

(© NG60°E (® N 120°E

0 cm A WR 0 & A am
AR H4AA

(A) ISR 9t (B) AR ATl

© weifEr a1 (D) TSR FTA

affR @1 scqaHie ©
WaEr WM & TH @H FTOAE / afR
N W) §9 @El B O

® I Tt _

Of=y vd afFeR W & w99 Bic
Gl BT oG

Plger vd affex WM & [ BiC
@Ml &1 AN

Dumpy level &1 W&FT fHar Siiem &
(A) Sig adegor (B) oAafel

D e P

(D) HH AIE

HHeR &1 AT fFar S '
A) ord 99§ (B) &F%ol HIOY H

(©) IR d99e | {D]sﬂﬁﬂaﬂé?{é’f
g YT § e S ©

(A) fETH

(B) HfewTH AHISS

(C) HFRIH NTepIgs dTiiel Nifed

(O 3 F PIs Tl

.
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73. Which material has less hardness ?
(A) Quartz (B) Feldspar

(C) Topaz (D) Diamond

74. Sound absorbing material
(A) Mat (B) Straw board
{€) Both Mat and Straw board

(D) None of these

75. Figure represents

(B) Centre line
(D) Object line

(A) Long break line
(© All of these

76. In setting up a plane table at any station
(A) centering is done first.

() levelling is done first.

(@) both levelling and centering are done
simultaneously.

{D) None of these

77. On a diagonal scale, it is possible to read up
to

(A) four dimensions  (B) two dimensions

(©) one dimension (D) three dimensions

78. Angle less than 90° is known
(B) Right angle
(D) None of these

(A) Acute angle
(C) Obtuse angle

79. Chemical formula of Gypsum is
W CaS0,-H,0 (8 C(CaSo,

(c) 1 D i
63304-—2—H20 (d) CaSO,-2H,0

A

74.

75.

76.

.

78.

79.

|m-ﬁﬂ1namfaﬁiﬁanarﬁ*3 (RITTH) © 2

(&) Fqrest (8) PesER
© Agrs (D) STIHS
&Y SraReft uatef
(A = (B) T 9IS
(© ¥ g1 wI 91 aEl
© e @ g T
" i i ueRE
BT T
(A) il Y A5 (B) IR ofTeH
© 3 i (D) HfsdiaE AT

fPell Wem W w9 2R @ v 2g
fear <irar €
(A) F=7 ygal (B) IHIAT Ut

©) THdes 9 b AIg-A1g
(D) 79 q HIg =l

@l Aot ¥ ugr S Aear €
(A) IR b (8) 21 fadrg

© v &by (0) 9 b

90° ¥ BITT DIV HEATET &

(A) =g Yo7 (B) IHpIUT
@ FRF BT 0) =H § P T

e &1 e @ @

(A} CaSO,-H,0 (B  (CaSO,

(c) 1
CaS0, = H,0

—

(0)  CaSO, - 2H,0

Page: 16
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s0. Chemical formula of pPotash lime glass is 80.

(A} K20 " CBO * GSiOZ
@ K,O0-PbO-65i0;
(© Na,O-Ca0 - 6Si0;

(o) All of these
81, Length of scale is equal to 81.
(A) R.F. x Max. length (B) R.E
Max. length

1

g X Max. length
R.FE.

{D) All of these

. Theodolite is used for measuring 82.

(A) All of these (8) Horizontal angle

{Q) Vertical angle (D) Bearing

In building the damp proof course is|8s.
generally provided at :
(A) Ground level -

{©) Lintel level

(B) Water table level
(D) Plinth level ]

Number of links per metre length of a chain | 8.
are

(A) 8 (8) 10 |
©3 (D) 5

85. If the height of the first storey building is|85.

3.25 m and riser is 13 cm., no. of treads is

—
-

QreTereTeH TR BT e G €
(&) K,O - Ca0 - 6Si0,

) K,O-PhO-6Si0,

(© Na,O - Ca0 - 6Si0;,

(0) I aH

A B THTg
A Preue e x e a=Ts
B8) PAEus =

i aH TS

1
reus i
(©) ¥ T
RriTeiaTse &1 WA f&ar S &

W I g

(®) RS BT AUE H

(© eafex o 799 H

() A AT H

waet § @ A Ig@T ATl ST 7
(A) o e W

B) S difeTdl 9 W

(© fvee 9@ ) PAI 9d R
g B TH Aex awrg H BRAT (links)
B T
(A) 8
(€ 3

(©
x ANfUFHTH TR

(8) 10
D) 5

afr e WA Wad @ Hals 3.25 m

Td EOR 13 cm B B A ¢S DI AT
(A) 23 (8) 26 =il
(©) 24 (D) 25 (A) 23 (B) 26
() 24 (D) 25
Page: 17
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86. Manhole is constructed in

87.

8a.

(B) Public sewer

(D) None of these

(A) Drain

(c) River

Least count of a Vernier theodolite is

(A) 30’ (8) 10"
© 20" (0) 30"

. Metric chains are generally available in
(A) 1I0m&20m (8) 25m& 100 m

(€ 15m&20m P)20m & 30m

According 1S-1967, size of A4 drawing sheet
inmm is

{A) 148 mm x 210 mm

(B) 297 mm x 420 mm

(€) 210 mm x 297 mm (D) All of these

Queen closer may be placed
() Both In header course and Stretcher
course

{(B) In header course

(€} All of these (D) Stretcher course

Fly-ash can be used
(A) Mass concrete

{B) Cellular concrete blocks
(€) Fly ash bricks (D) All of these

The brick laid with its length parallel to the
face of a wall known as
(A} Stretcher (8) Closer

(C) Header (D) None of these

86.

BY.

88.

89.

80.

91.

92.

37ereT 7 fator fear ST @

(A) 911 H (8) gfeTd AR H
© =2 § D)z ¥ BIg TEI
(a) 30’ ® 10"

© 20" (o) 30"

Hex e SuaH &

(A) 10 #H @R 20 A

(8) 25 # 3R 100 #
© 15 # IR 20 &
(D) 20 #t 3R 30 4

I1S-1967 & IR A4 FIsT die @I A9
mm H ®

(A) 148 mm * 210 mm

(B) 297 mm * 420 mm

(© 210 mm * 297 mm

O I i

T FAIOR @G ST ©
) TR g | G A
(B) geR g H
© ¥ gt

(0) ¥gaR Ygg A

TATS VI BT WA T Srar €
(A) TS BHbic

B) JR Pl <D

© wors v fas (0 F i

T P IEE, YR P TRE TGE P

AR

(A) W (B8) FATON
© T () g9 & dIs T8l
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e3. The dimensions of Queen closer is
(A) 9cmx9cmx9cm

() 19cmx9cmx9cm
(©) 9cmx4.5cmx9cm

(D) 19cmx4.5cmx9 cm

93.

79 FASR Y 719 B

M 9 cm x9cm > 9cm
B) 9 cm * 9 cm * 9 cm
(© 9 cm * 4.5 cm * 9 cm
®) 19 ¢m * 4.5 cm * 9 cm

o4 Rolled steel section ‘ISNT is read as %. Afeetd ST GUS ISNT’ B IaT SiraT
(A) All of these (8) |.S. light T-bar &
(©) 1.S. Normal T-bar (0} 1.S. Junior T-bar (A) F 7
(B) YR A B! 1B
©) YR 79D AR -85S
) YR 79D B S-BS
e5. Dado is usually provided 9. S BT AT AT B
(A) Living room {B) Dinning room (A) fofdT w7 & (8) ST ®©F F
(C) Bathroom (D) Roofs € grIed ¥ ) wg
% A wooden block hinged on post outside a (% TGSl HT EHI TGS B GRT H drex
door is known Bl TdES i Pidafba fear wmar €, S9
{A} None of these {8) Horn HEd B
(©) Cleat (D) Stop (W) 37§ FIg TEl
®) g
© e (D) =g
o7. The type of bond in which every course|9. &g T& &l QE% ¥ ey El"'{-aiﬁ’ SHl BT
contains both header and stretcher is called TN far Sar & 9 (diS) FdEdnt ©
(A) English bond (8) Flemish bond (A) TS 9Te (8) FIfyIT AT
(©) All of these (p) Mixed bond © I of (o) AT @ra
%. Figure represents o fry ugRid & ©
(A) gTEr Er
(4) Outline (8) Cutting plane line B) AT @ Y@
(€) Object line (D) Short break line (©) aiferae Y@ ) BIF Ay @
Page: 19 592382
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99. The ceiling height of a building is
(A) upto roof
(8) between ceiling and floor level
(©) between ceiling and ground level

(D) All of these

100. In levelling, station
(A) where level is kept.

(8) where staff is kept.
{€) level and staff are kept.

(D) None of these

o o W B QR T T
(A) Bd dP
(8) HI ddl '\‘!‘Tﬁf‘ﬁq

(© aﬁﬂﬂﬁﬁﬁﬁ“
©) I gHl

e e

w00 JafeiT & W FEN A ¥ W' w

A Afdad & T |
B wp IE@d © |
© Jfder 9 €IP GHl & T |

0) = A PIS T8I



